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The Industrial Revolution

What is the definition of the Industrial Revolution according to Arnold Toynbee’s essay?

The definition of the Industrial Revolution is the substitution of competition for the medieval regulations which controlled the production and distribution of wealth.

MAIN AIM: to produce the best product for the cheapest price.

What kind of process is the Industrial Revolution?

It is a long process that affected the whole western world, firstly developing in England around the XIX century.

This radical change towards the Middle Age economy developed two systems of thought: Economic Science and Socialism. They’re antithetical. Economic Science is strictly connected to laws which regulate distribution and production of wealth. 

In his seminal book, Wealth of Nations (1776), Adam Smith studied the causes of wealth production. He agreed with economic restrictions instead of the industrial “freedom”. An economic policy has "to increase the riches and power of that country".

Historical backgrounds: 

Adam Smith wrote his book in a early moment of the Industrial Revolution; in 1776 the American War of Independent happened. The American colonists had pretended to be represented in the English Parliament or the wouldn’t have paid any taxes: “No Taxation without Representation” was the common slogan. That was a strong principle of democracy. Adam Smith said that the price of the products depended from the laws of the market: thanks to this statement he can be considered the father of Free Trade.
Malthus, in his Essay on Population (1798), analyzed the causes of demographic fluctuations connected to the wealth production: why poverty has made people migrate from the rural world to the Northern region towns, looking for an employment in factories or coal mines. 
Ricardo wrote in 1817 the Principles of Political Economy and Taxation, thinking about the laws of the distribution of wealth under a system of industrial freedom.

The fourth and latest economic theorist is John Stuart Mill, who drew definitely the distinction between distribution and production and studied the way wealth ought to be distributed, in his Principles of Political Economy, to clearly regulate the divide between riches and poor people. A merit of this book was the very rational analysis of pros and cons of free competition. Mill was convinced that competition wasn’t a satisfactory basis of society.
The decisive factors of the Industrial Revolution were the growth of population, the contemporary decline of rural population and the Agrarian Revolution.

The rural population decreased because of the destruction of the common field system of cultivation (a slow but definitive process), of the enclosure on a large scale of common waste lands (extension of arable cultivation and tillage of inferior soils) and of the consolidation of small farms into larger.

Agricultural advanced and increased production thanks to a more scientific approach and technological innovations: the breed of cattle was improved, the rotation of crops was introduced and the steam plough was invented. These innovations caused a better agrarian productivity, the decrease of little farms, less need of labourers of the old common land because of enclosures and the use of new machineries, and a better controlled land administration.

On the other side the growth of industry was determined by mechanical discoveries: in textile industry for example were introduced the SPINNING-JENNY (by Hargreaves, 1770), the WATER-FRAME (by Arkwright, 1769), the MULE (by Crompton, 1779) and the SELF-ACTING MULE (by Kelly, 1792). 
 In 1769 James Watt took out his patent for the STEAM-ENGINE; its application in cotton manufacture gave birth to the factory system. Another important innovation was the POWER-LOOM (by Cartwright, 1785).

In iron industry were introduced other mechanical innovations, too. Smelting by pit-coal and the application of steam-engine to blast furnaces improved the productivity.

The increasing ware trade implied a revolution in communication. Canals, turn-pike roads and railroads began to fill the British territory.

The result of all these big changes were… periods of over-production and of depression (, more rents of lands because the farmers’ prosperity was as big as the landlords’ and the substitution of factory system for domestic system. Indeed merchants collected weavers around them to sufficiently supply with the goods required by the increasing trade commerce. There was a shift from independence to dependence and another new was that the any work was done often by people who  have no property in the goods they manufactured.

 The rise of rents, as told before, was caused by the much money invested in technological improvements, the consolidation of farms, the enclosure system and the high price of corn.

The farmers’ prosperity made them change their habits: the alienation between farmers and laborers became too marked and it led to class conflicts.

Meanwhile, in the manufacturing world, the new class of great capitalists had hundreds of workmen in their employment, unknown to them. The new human tie was the so called “cash nexus”.

Misery of working people was often caused by fall in wages, rise of prices and fluctuations of trade. Workmen resorted to combinations: the Trade-Unions. 

As a conclusion Arnold Toynbee affirmed that  the effects of the Industrial Revolution prove that free competition may produce wealth without producing well-being.

